
δ = 100
Data (A) all-donors (B) non-Ari-donors (C) non-Pagani-donors
PAGANI DATA 1 (1 - 1) 0 (0 - 0) 0 (0 - 0)
SIMS: MA 1 (1 - 1) 0 (0 - 0) 0 (0 - 0)
SIMS: RN 1 (1 - 1) 0.96 (0.94 - 0.98) 1 (0.99 - 1)
SIMS: RN+BN 1 (1 - 1) 0.93 (0.91 - 0.98) 0.99 (0.98 - 1)
SIMS: RN+BN+80% 1 (1 - 1) 0 (0 - 0) 0.72 (0.66 - 0.81)

δ = 50
Data (A) all-donors (B) non-Ari-donors (C) non-Pagani-donors
PAGANI DATA 1 (1 - 1) 0 (0 - 0) 0 (0 - 0)
SIMS: MA 1 (1 - 1) 0 (0 - 0) 0 (0 - 0)
SIMS: RN 1 (1 - 1) 0.96 (0.93 - 0.99) 0.99 (0.98 - 1)
SIMS: RN+BN 1 (1 - 1) 0.94 (0.91 - 0.98) 0.99 (0.98 - 1)
SIMS: RN+BN+80% 1 (1 - 1) 0.36 (0.3 - 0.38) 0.74 (0.69 - 0.78)


